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For new hatchlings and their mothers, noisier enviranments were assoclated with lower baseline levels of cortico-
sterone, a hormone involved in stress responses. This negative correlation may seem counterintuitive, but a lower
baseline has also been observed in humans with PTSD., Chronic stress can cause a sustained increase or decrease.

Most Likely to Succeed

In an ideal world, educators would know which students will best respond to which curri-
cula. Researchers at Stanford University set out to see whether brain scans could help

achieve this dream. They took 24 third graders and put them in a magnetic resonance
imaging machine before they went through an eight-week one-on-one math tutoring

program. Students whose scans showed a greater volume of tissue (gray matter) in the

right hippocampus had higher performance gains from the tutoring than those with lesser
volurne in this brain area, which plays a ritical role in forming new memories.
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T DONT TRUST LINEAR REGRESSIONS WHEN ITS HARDER
TO GUESS THE DIRECTION OF THE CORRELATION FROM THE
SCATTER PLOT THAN TO FIND NELJ CONSTELLATIONS ON IT.
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But regression can also be viewed as a method for error reduction.
This other way of viewing regression will look very different, and it's also less intuitive/geometrical.

—
— But it is the more useful and generalizable view. In this view, the focus is on the variance of the y's,
and as a result, the method is called The Analysis of Variance (ANOVA). It leads to quantities
—2 called R*2 and s_e which together quantify how good is the regression model.
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x=45,58,71,71, 85,98, 108

y =3.20, 3.40, 3.47, 3.55, 3.60, 3.70, 3.80

a) Compute the eq. of the OLS fit.

b) Compute the total variation, SST.

¢) Decompose SST into explained and unexplained.

d) Compute R2 and interpret it (in English),

¢) Compute the std. dev of errors, s_e, and interpret it (in English).

All by hand."You may use R to compute sums, means, std. deviations, but not a function that does regression or
analysis of variance.
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